MATH 141H, FALL 2012

SOME DERIVATIVES:

f(z) =+Vze® +

f(z) = sin(z) sin(zx + «)

1.8

fz) = S22
fl@)=(a+z)Va—z
f(x) = 3sin(z) cos®(z) + sin?(x)
f(z) = arcsin(In(z))
f(z) = In(In(3 — 22?))

f(z) =In 1+ /sin(x)

1 — y/sin(x)

f@)y=(+1)(z+2)(x+3)(z+4)(x+5)(x+6)(z+7)(x+8)(x+ 9)(z + 10)

f(z) = sin(x) + cos(x/5) + tan(y/z)

14 cos(2z)

Jz) = 1 — cos(2x)

fla) = 2*(a - 227)

f(z) =+/(z+a)(z+b)(z+c)
f(x) = In(arcsin(z))
f(z) = Vew

f(x) = arctan ln(%)

f(x) = (sin(x))*

B 9 3 5 1 1
f(@) = 5@+2F  (@+2)  (@+2P  3a+2? z+2
f(x) =1In 2z~ 1) fla) =a™




